ADJUSTABLE ROLLER CARRIER
ATTACHED W/(@) 1/4° x 1/2°
BOLT & NUT PER BRACKET

13 GA. (MIN) GALV, STEEL ]
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/(3)
1/74* x 3/4° HEX HEAD
SCREWS PER BRACKET

(2) 13 GA COMMERCIAL TOP FIXTURE
ATTACHED W/(3) 1/74* x 3/4*

HEX HEAD SCREWS ADJUSTABLE
SLIDE BRACKET ATTACHED

W/(@) 1/4" x 1/2° BOLT AND NUTS

4 1/2°H X 20 GA. <4’ R-TRUSS)
ATTACHED W/(1) 1/4° X 3/4°

HEX HEAD SCREW AT EACH HINGE AND
(1> UNDER EACH HINGE INTO BACK SKIN

FRONT SKIN 24GA. ¢022° MIN.)
14GA. DURASAFE BACK SKIN 27GA (015 MINY
CENTER HINGE ATTACHED CFC-FREE EXPANDED

W/C4) 1/4" x 3/4°
HEX HEAD SCREWS POLYSTYRENE INSULATION

4 1/2° R-TRUSS ATTACHED
W/<@) 1/4° x 3/4’ HEX HEAD
SCREWS AT EACH END STILE
AND CENTER STILE LOCATION
ON TOP SECTION

27 10 BALL STEEL 5° MIN STEM
HURRICANE ROLLER W/ 7/16*
RETAINER FOR NON-THREADED SHAFTS

4 1/2°H X 20 GA. (4 R-TRUSS)
ATTACHED W/<(2) 1/4° X 3/4*

HEX HEAD SCREWS AT EACH ENDSTILE
AND CENTER STILE

TYPICAL DURASAFE CENTER HINGE 14 GA. END HINGE
TYPICAL TOP FIXTURES @ TS @ ATTACHED W/(2) 1/4* X 3/4°
N.TS. HEX HEAD SCREWS

K
ete

%%
.4

e
2

X

K>
XX

6%
bat

4 1/72° X 20 GA. R-TRUSS (1>
PER SECTION STACKED ON THE
END HINGES ATTACHED

W/(3 1/4* x 3/4° HEX HEAD
SCREWS AT EACH END STILE
AND W/(2) 1/4* x 3/4° HEX
HEAD SCREWS AT EACH CENTER
STILE LOCATION

e
Q

2
X

&,

X
kX

14GA. DURASAFE ROLLER
CARRIER ATTACHED
W/(3 1/4* x 3/4°

HEX HEAD SCREWS
TO EACH ENDSTILE
A

hd v e . SHEARED #3 14GA
DURASAFE ROLLER CARRIER
— — ATTACHED TO R-TRUSS
wW/@ 1/4° x 3/4'
HEX HEAD SCREWS

o
%

-
0

Totets

c2

&2

v
Q2

2

2

R
X0

9,

X3
&

-,
XX

X

X2

4 1/2° x 20 GA. R—TRUSS STACKED
ON BOTTOM BRACKET ATTACHED

W/(@) 1/4* X 3/4” HEX HEAD SCREWS
AT EACH ENDSTILE AND CENTER STILE
LOCATION

2

14 GA. DURASAFE

END HINGE ATTACHED

W/ (@ 1/4° x 3/4° LIFT CABLES
HEX HEAD SCREWS

R
&

R
2!

BOTTOM BRACKET ATTACHED
W/(4) 1/4" x 3/4°

-one =

A A HEX HEAD SCREWS o)
L) CONTINUOUS ALUMINUM EXTRUSION
: 4 1/2°H X 20 GA, (4* R-TRUSS) WITH CONTINUOUS VINYL ASTRAGAL
3 : ATTACHED W/(3) 1/4° X 3/4 27 10 BALL STEEL 95°
m HEX HEAD SCREWS AT EACH ENDSTILE STEM HU'RRICANE ROLLER
AND W/(@ 1/4° X 3/4* HEX HEAD W/ 7/16° RETAINER FOR
SCREWS AT EACH CENTER STILE NON-THREADED SHAFTS SECTION A—A (SIDE VIEW)
N.T.S.

2 ’ TYPICAL DURASAFE END HINGE (-
I} N.T.S.

' i REV | DESCRIPTION OF REVSIONS DATE  |BY
Ell’
oy —— P | — g -
1_1 ” 3/_10 . 3/_10 ” 4;_1 s i o >
1 S ——I—>A §§ SN \ ES
16 4 1/2°H X 20 GA. (4" R-TRUSS) MAX SIZE £2 Py F“EOFTE* ‘\‘
ATTACHED W/(®) 174’ X 3/4° 16" x 14’ &= ~ A “lgh TS
HEX HEAD SCREWS AT =<E s 9. 8 £8
INSIDE ELEVATION EACH ENDSTILE AND CENTER STILE BOTTOM_BRACKET DESIGN LOADS gt 1 g5
N.T.S. 13 GA. THICK ATTACHED +29.7 PSF aE e
W/(4) 1/4* X 3/4* 338 PSF P °v
HEX HEAD SCREWS T B ]
[T <
TEST LOADS  |ES Ep
2° 10 BALL STEEL 5° MIN +44.6 PSF 25 a2
STEM HURRICANE ROLLER —-50.7 PSF 42 5&
W/ 7/16° RETAINER FOR P Sz
NON-THREADED SHAFTS Eg so
STOP  MDULDING 23 A
3 3/4° MIN. W/ FLEXIBLE SEAL 2 X 6 SYP & £8
] SIDERODH [ /cSUPPLIED BY INSTALLER) (NO. 2 OR BETTER) TYPICAL BOTTOM BRACKET@ g
I N.T.S.
) 2-1/2* X 3-1/2” 18 GA GALV.
STEEL BACKER PLATE GLUED TD
INSIEE— ED%E Ahmp AND BOTTOM
ACH STILE LOCATION
JAMB BRACKET ATTACHED TO { 2" GALV. STEEL TRACK
JAMB W/C(1) 5/16° X 1-5/8" TRACK THICKNESS .063 THE METHOD OF TESTING WAS IN SUBSTANTIAL 165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM
LAGT RBAIEI:IRT ;\/I‘IDG)ATI'I'/A‘\‘CI-){(E]% /Tag CONFORMANCE WITH THE PROCEDURE DESCRIBED IN DASMA
. URES SH
SPICE BOLT #3 14GA. DURASAFE SHEARED ROLLER CALCULRTED JSING. ASCE o8 /00 /03 Wil S1E Tos MODEL #1200 HERITAGE 3000
CALCULATED USING ASCE 7-98/02/05 WITH THE FOLLOWING
s e HER (EAD SCREWS PARAMETERS (5 FEET OF DOOR WIDTH IN THE END ZONE, MODEL #1550 OAK SUMMIT 3000
, ROOF AT ANY SLOPE): SHORT, LONG, FLUSH & OAK SUMMIT PANELS|
e X 2o Ga WIND SPEED (MPH) | 140 | 127 | 121 | 115 | 111
EXPOSURE LEVEL B c C D D SZE| DRAWNBY  RIR| DATE 8/13/12 DRAWING NUMBER
MEAN ROOF HEIGHT [ 30 15’ 25 15’ 25’ —1216-140-
TRACK MOUNTING DETAIL B| cecxmsr | oaE IRC-1216-140-24
N.T.S. SHEET 1 OF 3




TABLE 2
DOOR
 HEIGHT

SECTION HEIGHTS

LAG BOLTS

e

(SPLICED

E-G

o

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/(1) 1/4"-20
TRACK SPLICE BOLT & NUT

|
A

f
TRACK CONFIGURATION FOR 6'6" UP TO 14’ TALL DOORS (SEE TABLE 1)
N.T.S.

TABLE 1
DOOR TRACK ATTACHMENT SPLICE
HEIGHT[AJ B C[D[E[F[G| S

ALL TRACK ATTACHMENT SPACING +'<—2"
ALLOWED WITH SYP NO. 2 OR BETTER ONLY

SPLICE TRACKS AT THIS LOCATION
W/(4) 1/4"=20 TRACK SPLICE BOLTS & NUTS
SECURE 'TO JAMB WITH (3) 5/16” DIA. x 1-5/8"

I Il il R i R
L i P

21"

INTERIOR OF GARAGE

WOOD JAMB ATTACHMENT TO STRUCTURE

TI TTACHMENT 70 wOO
5/16° X 3’ LAG SCREWS STARTING 6° FROM ENDS THEN 20° O.C. <1 1/2" EMBEDMENT>
X 6 VERTICAL JAMB ATTACH 10 2.00
HILTI KWIK BOLT 3/8” X 4° STARTING 6” FROM ENDS THEN 24° O.C. (2 1/2° EMBEDMENT>
HILTI SLEEVE ANCHOR 3/8° X 2-3/4’ STARTING 6’ FROM ENDS THEN 18”7 O.C. (1 1/4" EMBEDMENT>
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4* STARTING 6 FROM ENDS THEN 247 OC. (2 1/2° EMBEDMENT)
X 6 VERTICAL JAMB ATTACHMENT
SIMPSON 1/4° X 37 TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3" APART) AT 87 O.C. <1 1/2° EMBEDMENT>
HILTI 174" X 2-3/4* KWIK-CON II+ SCREWS STARTING 6 FROM ENDS, USE PAIRS OF
FASTENERS (3 APART> AT 8“ O.C. (1 1/4" EMBEDMENT)

A ATTACHMENT T|

%LAGS AND BOLTS CAN BE COUNTERSUNK TO- PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wODOD JAMBS BY OTHERS

A

W _C-90 BLOCK

UTED C-— <2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8” X 2-3/4" STARTING 6 FROM ENDS THEN 20 OC. (1 1/4*
EMBEDMENT> <OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

TR

RETE

i 1
HOLLOW BLOCK GROUTED BLOCK

—=  MAX. WIDTH 16'0"  |==—

samB DEsioN Loans [ f T HT T H T ]

+237.6 LB
-270.4 Lagfﬂ: SEE NOTES 1 & 2

A

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.

THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD ]
TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:

+237.6 LBS/FT & =-270.4 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. (.022) MIN. EXTERIOR SKIN

ROLLED FORMED, W/ BAKED ON POLYESTER FiNISH

5. DOORS UPTO 7'0° HIGH CONSIST OF (4) SECTIONS AS SHOWN.

USE (1) 4.5" R—TRUSS PER SECTION AND (2) 4.5° 20GA R—TRUSSES ON BTM. SECTION
6. DOORS OVER (4) SECTIONS REFER TO TABLE 2

7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

o

DOOR HEIGHT

VERTICAL UFT

~ WooD CONCRETE
= STRUCTURE STRUCTURE STRUCTURE STRUCTURE
g I I ‘ , 1
it
b I \ i \ \ n \
T J T = T
172" MIN 2-3/4" MIN 1-1/2° |MIN 4
2X6 JAMB
TYP. 3* MIN
i
REV | DESCRPTION OF REISIONS DATE  [BY
o
58 £¥
Jo \\\\\\ o™
X g —~ \\ co
MAX SIZE  |g8 PN AR 52
16 x 14 |wk AR £ »"E;g
zE £2
DESIGN LOADS |E& £
+28.7 PSF & ze
—33.8 PSF g< o =
5% 88
TEST LOADS | £5 _‘gii
+44.6 PSF T35 3%
-50.7 PSF 28 g
85 EES
53 59
=1 ©

STANDARD LIFT

HIGH UFT

L

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

LOW HEADROOM

Amarg

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1550 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE| DRAWN BY  RIR| DATE 8/13/12 DRAWING NUMBER

B | cHecke gy DATE IRC-1216-140-24

SHEET 2 OF 3




TABLE 3

Section Center Stile Max Design Section Center Stile Locations Max Design
Panel Type Locations Loads Allowed Panel Type (Measured from Left Edge) | Loads Allowed
Width 1st | 2st 3rd | Positive | Negitive Width 1st | 2st 3rd 4th | Positive | Negitive
(ft) (in) | (in) (in}) | (PSF) | (PSF) (ft) (in) | (in) (in) (in) (PSF) | (PSF)
10'0 Short  |48.41| 71.59 39.6 45.1 14''0 Short 57.76] 84.00 |110.11 33.8 38.4

REV | DESCRIPTION OF REWSIONS DATE  |BY

= g3
%é \\\\\\\\ EE

0 S 3
MAX SIZE =7 SmaARsLS ;
16 x 14 |2E S AR < 38
2E £2
DESIGN LOADS |- Ss
+29.7 PSF SE AU i el 55
-33.8 PSF | £8 ’Sgy
S W faeesfiecssessvenesercccsnsa £ Z
TEST LoADS | ES 2=
+44.6 PSF s2 25
-50.7 PSF [J2 [/ W R in 2o 2=
g5 WOSIONALEN 2 -
Ss AN g bz
= o
"5 TX 28

Amary

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 WWW.AMARR.COM

MODEL #1200 HERITAGE 3000

MODEL #1550 OAK SUMMIT 3000
SHORT, LONG, FLUSH & OAK SUMMIT PANELS

SZE| DRAWNBY  RWR| DATE 8/13/12 DRAWING NUMBER

B | cHecke By DATE [RC-1216-140-24
SHEET 3 OF 3




